normalized x?

< X2/ndf>

Ratio

< Xx2/ndf>

Ratio

[[normalized x? probability ]

Ratio

0.25F -+

0.2f--:-

Entries . . Entries
______ Mean 1317 0.15F--+- - | Mean
Std Dev
------ 0.2F--:-
------ 0.05
Entries
Mean 1.449
. Loss) 0
1.2

8 10 12 14 16 18 20 0 0102030405060.708
X2 Prob(x?
— é :g:m;?( ECTOT_TUUUEVT
— D fitted4_T000evt
s DOM—fit_cpeOK_1000evt
s DOMfit_cpeOK~SORTRZ2_1000evt
D fit_cpeOK_SORTRZ2_TESTOUTLIER4_1000evt
2.5:_ ..... : ..............................
o5 |
i
Foho

< x2/ndf>

Ratio

[y
T[T [T [T [T T T[T TIT T

-1
AR(track, jél’[?



	Contents
	Page 1


